This report contains the transfers results.

Contest Name	Ward 5 Govan
Valid Votes	6,456
Positions to be Filled	4
Quota	1,292

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Imran ALAM	Glasgow Labour	1,272
Ricky BELL	Scottish National Party (SNP)	1,181
William BONNAR	Scottish Socialist Party - People Not Profit	95
Stephen DORNAN	Scottish National Party (SNP)	794
Uche Gladys EMORDI	Alba Party for independence	132
Funmi FAJEMISEYE	Scottish National Party (SNP)	498
John FLANAGAN		124
Ruth S HALL	Glasgow Labour	644
Dan HUTCHISON	Elect a Scottish Green Councillor	975
Neil O'DOCHERTY	Scottish Liberal Democrats	97
Mamun RASHID	Scottish Conservative and Unionist	644
	Total	6,456

This report contains the transfers results.

Stage 2 - Exclusion of William BONNAR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Imran ALAM	9	1.00000	9.00000
Transfer to Ricky BELL	5	1.00000	5.00000
Transfer to Stephen DORNAN	9	1.00000	9.00000
Transfer to Uche Gladys EMORDI	11	1.00000	11.00000
Transfer to Funmi FAJEMISEYE	4	1.00000	4.00000
Transfer to John FLANAGAN	4	1.00000	4.00000
Transfer to Ruth S HALL	7	1.00000	7.00000
Transfer to Dan HUTCHISON	36	1.00000	36.00000
Transfer to Neil O'DOCHERTY	3	1.00000	3.00000
Transfer to Mamun RASHID	1	1.00000	1.00000
No further preference	6	1.00000	6.00000
Not transferred due to rounding			0.00000
	Total		95.00000

This report contains the transfers results.

Stage 3 - Exclusion of Neil O'DOCHERTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Imran ALAM	14	1.00000	14.00000
Transfer to Ricky BELL	4	1.00000	4.00000
Transfer to Stephen DORNAN	5	1.00000	5.00000
Transfer to Uche Gladys EMORDI	4	1.00000	4.00000
Transfer to Funmi FAJEMISEYE	1	1.00000	1.00000
Transfer to John FLANAGAN	2	1.00000	2.00000
Transfer to Ruth S HALL	17	1.00000	17.00000
Transfer to Dan HUTCHISON	14	1.00000	14.00000
Transfer to Mamun RASHID	20	1.00000	20.00000
No further preference	19	1.00000	19.00000
Not transferred due to rounding			0.00000
	Total		100.00000

This report contains the transfers results.

Stage 4 - Surplus of Imran ALAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ruth S HALL	827	0.00231	1.91037
No further preference	129	0.00231	0.29799
Not transferred due to rounding			0.00855
	Total		3.00000

This report contains the transfers results.

Stage 5 - Exclusion of John FLANAGAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ricky BELL	10	1.00000	10.00000
Transfer to Stephen DORNAN	16	1.00000	16.00000
Transfer to Uche Gladys EMORDI	9	1.00000	9.00000
Transfer to Funmi FAJEMISEYE	7	1.00000	7.00000
Transfer to Ruth S HALL	35	1.00000	35.00000
Transfer to Dan HUTCHISON	12	1.00000	12.00000
Transfer to Mamun RASHID	6	1.00000	6.00000
Transfer to Ruth S HALL	18	0.00231	0.04158
Transfer to Dan HUTCHISON	1	0.00231	0.00231
Transfer to Mamun RASHID	4	0.00231	0.00924
No further preference	35	1.00000	35.00000
No further preference	10	0.00231	0.02310
Not transferred due to rounding			0.00000
	Total		130.07623

This report contains the transfers results.

Stage 6 - Exclusion of Uche Gladys EMORDI

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ricky BELL	25	1.00000	25.00000
Transfer to Stephen DORNAN	22	1.00000	22.00000
Transfer to Funmi FAJEMISEYE	23	1.00000	23.00000
Transfer to Ruth S HALL	12	1.00000	12.00000
Transfer to Dan HUTCHISON	20	1.00000	20.00000
Transfer to Mamun RASHID	8	1.00000	8.00000
Transfer to Ricky BELL	3	0.00231	0.00693
Transfer to Funmi FAJEMISEYE	1	0.00231	0.00231
Transfer to Ruth S HALL	6	0.00231	0.01386
No further preference	46	1.00000	46.00000
No further preference	10	0.00231	0.02310
Not transferred due to rounding			0.00000
	Total		156.04620

This report contains the transfers results.

Stage 7 - Exclusion of Funmi FAJEMISEYE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ricky BELL	169	1.00000	169.00000
Transfer to Stephen DORNAN	227	1.00000	227.00000
Transfer to Ruth S HALL	16	1.00000	16.00000
Transfer to Dan HUTCHISON	79	1.00000	79.00000
Transfer to Mamun RASHID	5	1.00000	5.00000
Transfer to Ricky BELL	2	0.00231	0.00462
Transfer to Stephen DORNAN	2	0.00231	0.00462
Transfer to Ruth S HALL	5	0.00231	0.01155
Transfer to Dan HUTCHISON	2	0.00231	0.00462
Transfer to Mamun RASHID	1	0.00231	0.00231
No further preference	37	1.00000	37.00000
No further preference	1	0.00231	0.00231
Not transferred due to rounding			0.00000
	Total		533.03003

This report contains the transfers results.

Stage 8 - Surplus of Ricky BELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen DORNAN	1,114	0.07330	81.65620
Transfer to Ruth S HALL	42	0.07330	3.07860
Transfer to Dan HUTCHISON	120	0.07330	8.79600
Transfer to Stephen DORNAN	32	0.00016	0.00512
Transfer to Ruth S HALL	24	0.00016	0.00384
Transfer to Dan HUTCHISON	6	0.00016	0.00096
No further preference	111	0.07330	8.13630
No further preference	24	0.00016	0.00384
Not transferred due to rounding			0.01330
	Total		102.20790

This report contains the transfers results.

Stage 9 - Exclusion of Mamun RASHID

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen DORNAN	33	1.00000	33.00000
Transfer to Ruth S HALL	306	1.00000	306.00000
Transfer to Dan HUTCHISON	42	1.00000	42.00000
Transfer to Stephen DORNAN	2	0.07330	0.14660
Transfer to Stephen DORNAN	8	0.00231	0.01848
Transfer to Ruth S HALL	36	0.00231	0.08316
Transfer to Dan HUTCHISON	4	0.00231	0.00924
Transfer to Ruth S HALL	1	0.00016	0.00016
No further preference	303	1.00000	303.00000
No further preference	5	0.07330	0.36650
No further preference	44	0.00231	0.10164
No further preference	3	0.00016	0.00048
Not transferred due to rounding			0.00000
	Total		684.72626

This report contains the transfers results.

Stage 10 - Exclusion of Ruth S HALL

1,042.14312

No. of Ballot Papers	Transfer Value	Votes Transferred
87	1.00000	87.00000
171	1.00000	171.00000
10	0.07330	0.73300
12	0.07330	0.87960
60	0.00231	0.13860
130	0.00231	0.30030
5	0.00016	0.00080
3	0.00016	0.00048
779	1.00000	779.00000
20	0.07330	1.46600
702	0.00231	1.62162
17	0.00016	0.00272
		0.00000
	Papers 87 171 10 12 60 130 5 3 779 20 702	Papers Iransfer Value 87 1.00000 171 1.00000 10 0.07330 12 0.07330 60 0.00231 130 0.00231 5 0.00016 3 0.00016 779 1.00000 20 0.07330 702 0.00231

Total 1,042.14312